WS 8.8 Review Worksheet

1. How much KCI can be dissolved in 100 g of water at 62.0°C? L/l{ 2
(reod direcsly {rom groph)

2. How much KNO3scan be dissolved in 136.0 g of water at 71.0°C? 177 3
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3. How many grams of water will it take to dissolve 160
26.0 g KCl at56.0°C? _b0. g 150 7
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4. What temperature would be required to get 42.4 g %‘ 10
of KCl to dissolve in 100 g of water? 53 C 5100
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5. What temperature would be required to get 42.4 g E ;g
of KCl to disolve in 142 g of water? _13°C . =re
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6. 6490 g of solution contain{18 mgyf sugar. 10
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What is the % sugar in the solution? 2.8 % o A temperature ( C)
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What is the ppm sugar in the solution? 2.8 PPm
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7. How many grams of HF would there be in 15.6 g of 32.0% HF solution?
* ,320 Ans:l‘]'ﬂq 3
15.6
8. How much 5.30% salt solution can be made using 16.7 g of salt?
Jots . o530 Ans: 315 g

9. What is the molarity of a solution containing 1.2 moles NaCl dissolved in 750 mL of NaCl solution?

ol l.'2. ol
Mz"mf‘: 0__?_5'1{: Ans: V16 M

10. How many moles of sugar are needed to make 1.30 mL of 1.50 M sugar solution?
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Ans (iro+2): 0.00028 0.00195 0025 16 28 499 96 13 44 53 60 1460 178 315
Units (iro+1):g g ¢ 9 ¢ 9 % ppm moles °C *C L L mL M M



11. How many grams of NaNOz2 are needed to make 150 ml of 3.0 M NaNO2 solution?

L, 3.0 ml 61 0 -
150wl v e X = . Ans: 3] 9
12 . What volume of 1.3 M CaClz solution can be made using 3.6 g CaCl2? _
\ Ans: LS wl
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i 9 LD o 1L or 025 L)

13. 17.5 mL of 3.00 M HCl is place in a 100.0 mL volumetric flask and water is added up to the mark.
What will be the molarity ¢of the diluted HCI?

(M) s(MY)  (Bo0)(17.5) 4 0
M{' Vo - 100.0

- Ans: ;5_2“5 M

14. What volume of 1.3 M HBr should be added to 55 mL of 5.0 M HBr to make the total

concentration 4.5 M? 19 235 = 4.5 (x +5 5)
5 D%+ = 4,
(h3)(x) + (5'°)(,5_._) =45 L3x +235 = Y.5¢ 3 247.5

X t 55 23.5 = 3L
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15. Use numbered steps to describe precisely how you would use a 25.0 mL volumetric flask to
make up some 0.750 M NaF soln. Indicate how much NaF to use & check answer below.
1L 42 .
250k E‘S_:L Y E&-'EP\ ! i n:l e 788j 1) Weigh 0.788 g of NaF into flask.
! 1) Fill 2/3 Full with water

3) Mix until dissolved
#) Fill 3o line (erched by hand!) with water,
5) invert until homogeneous.

16. Some room temperature water (A) has some KBr mixed in and it all dissolves (B). Some more KBr is added andit all
setlles to the bottom (C). After vigorous shaking, however, about 1/2 of the KBr dissaolves {D). This is then cooled
down to 5'C and some of the dissolved KBr recrystallizes out (E). This is then heated to 75°C, and all the KBr quickly
dissolves (F). This is then cooled back down to room temp with no KBr recrystallizing out (G). A single granule of KBr is
added and a bunch of crystals form throughout the container (H). Indicate whether the solution was unsaturated,

saturaled, or supersaturated at each point in time:
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17. You are given what appears}o be a clear, colorless liquid in a sealed flask. You are asked to determine whether it is

a solution, a colioid or a §uspens'ioni What would you do, and what would it show?

test for Tyndall effect: If rhere's a peam of (ight, i¥'s a col{oid. £ no+, s a so{ution

18. You are given two beakers each of what contains what appears to be water. One contains water: the other contains
a solution of LiNO3 in water. Describe at least three distinct ways you could differentiate which liquid is which.

1. Allow ¥o evaporate (saly will pe lefr pebind)h 2. Check density by weighing equal volumes.
3. Add more LINO3 until saturated (Yhe water peaker will require more LINO3 ¥o pecome saturated )

Ans (IRO): sat sat sat uns uns uns uns sup 0.525 0788 86 25 31



